Section Seven
— Mixed Problems

Pages 45-46

1. 50%

The black and silver segrments make up half of the pie
Chart (135°+ 45°= 180°). That means that 50%
of the peaple drove black or silver cars.

2. U

The total angle of the segments for blue and red
carsis 90° + 30°= 120°. This as a fraction of the
entire chart is 129540 which can be simplified to Vs

3. 8

To find how long it will take to eat 40% of the bag
You need to work out what Vs is as a percentage.
Convert V5q into an equivalent fraction witha
denominator of 100. Multiply the numerator and
the denominator by 5 to get %ipp. That means
that Vopis the same as 5%. It takes Greg 1day 10
eat 5% of the bag, so it takes him 40 + 5 = 8 days
Lo eat 40% of the bag.
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10. £100

Y the mean of Mrs Farooq's gas bils s £80, then
the totalis 4 x £80 = £320.

Reading off the chart; July’s bill = £40,

Gctober's = £60 and January's = £120.
£40+£60 + £120=£220, 50 the billin Aprilis
£320-£220=£100

11. £80

The smallest value is for July (£40). The largest
valve is for January (£120).

The difference is £120 - £40 = £60

12. 310kg

¥ the mean weight of the crop from the 5 trees is
320Kkg, then the total weight would be
5x320kg = 1600kg

The total crop from four trees Is
370+280+330+310=1290kg.

The crop from the Sth tree will be

1600- 1290=310%g

13. C

Volume = length x width x height

Sothe wlume of the container is

25x 10x 10= 2500 cm®. The container is filled
with 1000 cm® of water, so the fraction of the
contaner filed with wateris '9%3 27, = 1%
Tofind this as a percentage you need to turm

It into an equivalent fraction with 100 2 the
denominator. Multiply the and the
derominator by 4 to get 404 o) = 40%

14, B

W¥youread off che bar chart the number of German
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16. B
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The two unknown sides opposite to the labelled side
a add together to make a. The two unknown sides
opposite to the labelled side b add together to
make b. So the perimeter is 2a + 2b.

18. B

Find which rule will give the first numberin the
sequence. For the first numbern = 1, only 2 rules will
give 5 as an answer.
fn=1,7"-2=7-2=5andn+4=1+4=5,
Try these rules forn = 2:
n-2=14-2=12,andn+4=2+4=6.
Only 7n - 2 gives the right number for both terms.
19. 25

If the sequence value is 173, it can be written that
173="7n - 2. Adding 2 to each side gives
175=7nandson=175+7=25

20. £66.50

Gerald is paid £3.50 for every half hour, so he is
paid £3.50 x 2 = £7.00 for every hour:

Next work out how many hours he was at work for:
From &:20 am to 4:20 pm s 10 hours.

From 4:20 pm to 4:50 pm is 30 minutes, or half an
hour: S0 he was at work for a total of 10 and a half
hours. He took 1 hour unpaid for his lunch o he got
paid for 9 and a half hours work.

He was paid 9 x £7.00 = £63.00 for the nine
hours, and £3.50 for the half hour: So he earned
£63.00 +£3.50 = £66.50 in total.

21. 360 ml
Frm4panandwto4pmmTuoad.wla

24 hours. From 4 pm on Tuesday to 4 pmon
Wednesday is 24 hours, but subtract 2 hours to
get back to 2 pm. Sothat’s 24 - 2 = 22 hours.
24 + 22 =46 hours. 46 + 2 = 23 doses, but this
doesn't include her first dose, so the total number
of doses = 23 + 1= 24 doses.

1dose=15mi, 5024 x 15=360ml




